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Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10

T T e eEE s fr

(a) In a capitalist economy, the level of
employment depends on

94 ffEaiT wAifes fream e T e e
(i) level of aggregate demand
STHES BIfER IR eoe

(ii) level of aggregate supply
STHES MR TN €o[FS
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(2)

(it} level of effective demand
ey BRI A ST
(iv) None of the above

CLEEREInCIEEY
( Choose the correct option )

(= {Feo! qife Tferear )

(b) Aggregate demand can be expressed as
STfE BifRnl e P9
(i) D=D;+D,
(i) D, >D,
(i) D, <D,
(iv) D=D, -D,

where (3’8) D = Demand (5If2m)
D, =Consumer demand (cere@wifEn) and

() D, =Investment demand

(Rffcamsrorfzan)

( Choose the correct option )

(o= a0 Aifr Tferear )

() When money wage rate is unchanged,
the slope of aggregate supply function is

G T TR 2 SR, cofon S
QM T SR 2]
(i) linear
SIRE
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(3)

(i) non-linear
H-(a¥e
(i) curved
JF
fiv) Any shape
R ST
( Choose the correct option )

( wm Resco! Az Sferear )

(d) According to Phillips, the relationship
between unemployment and the rate of
change of wage rate is

Rl Wro @ sF TgRa ARae [
TR T B

(i) inverse
IBGEIS

(i) linear
S1RE

(iii) non-linear

- R
(iv) both inverse and non-linear

fR43te oI §-3RS TR
( Choose the correct option )

( W= Rmco Az Sfrear )
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(e)

(9)

(h)

(i

0

22A/40

(4)

Phillips curve determines

e @R A 3

(i) employment rate

[EI5IREEE
(i) unemployment rate
e 29
(iii) inflation rate
Jarfifes 29
(iv) All of the above
o SGIRCR0!
( Choose the correct option )
( o= Resitr iz Sferea )
What is modified Phillips curve?
e R @ e 2

What is assignment problem according
to Mundell?
e oo wiftged PG e 2

What is Dornbusch’s overshooting
model?

59 o SRgfeR WED 2
Define international financial market.

TEEifes [Rem IEee A7ee |

What is open economy?

e wgafe 2
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2. Answer the following :

(S)

wors fRaaRa Tee i :

(@)

(b)

(c)

(@)

(e)

3. Answer any four of the following :

Differentiate between spot and forward
exchange rate.

=off IF A6 [ 399 qwe A T
91|

Write two constituents of international
financial market.

R K8 I&=q {51 Somreg W o141

What are the I-S components of
Mundell-Fleming model?

Toua-GFR w1fEe Sen-Rfcss Sames &
S

Give two merits of Phillips curve as a
tool of economic theory.

s ogd T Roet fefere @9 751 8
forar |

Define impossible trinity of Mundell-
Fleming model.

eue-GFRR SHIfEq SrRee @8 v e |

word R vif<te e for

(@)

22A/40

What are the factors which cause shifts
in the short-run Phillips curve?
@F e IAFT ZFIrN Rfrr @R
S{fRRAETT TR (Tl 2 ?

.(TumOver)
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(6)

(b) Explain the concepts of rational
expectation in theory and practice.

ofes W IEAET Fao @feF JOME
RETICO! I F1 |

fc) What is adaptive expectation? Mention

three limitations of adaptive
expectation.

wfeaiee e 7 TR SR6 SaRmer
T 91

(d) How is the exchange rate determined in
a free market? Explain briefly.

T& T [{HAwEe 219 s [ 591 =7, o0
T 7 |

fe)] What are the relative importahce of
aggregate demand and aggregate

supply?

TR sitwm W TR @eFe SR
AT 9y f$92

() How can the aggregate supply function
be derived?

AER QR Fole (Feamed et <547 23 9
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4. Answer any four of the following :

(7))

weq I oifRoR Tee fan

(@)

(b)

(c)

(@)

22A/40

Explain the purchasing power parity
theory. Discuss its limitations.

@QWWW%IWWWIW

SRROPZ, SCED 41|

Explain Mundell-Fleming model in
terms of monetary fiscal mix policies
under fixed and flexible exchange rate
with perfect capital mobility.

o Sorel YA e &R S AREEe
R e [eF-aie Qv o TER-
e T fSCor = <= |

How does the Phillips curve explain the
trade off between unemployment and
inflation? Discuss its policy implication.

PR @R GEE R S gErRied

e ST 0T G 2 WA A0S ROEPr2
SCEAG] F47 |

What do you mean by effective demand?
What are its determinants? Explain
briefly.

wern iz e & g9 7 TR TR
& 2 ¢ 10 41|

{ Turn Over )
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(8)

(e} Discuss how underemployment
equilibrium is determined with the help
of aggregate demand and aggregate

supply.

T W W AEEe @R RS
S SR (e e T 7, qefa
el

() Explain the Dornbusch’s overshooting
theory.

T OEZO] SGLO! 1M |

(g) Write a note on monetary approach to
balance of payments (BOP).

CFICCT STl (BOP)T @ole 7Bty @sigs
9GBT (Ol ot |

(h) Explain the asset market approach to
determine exchange rate.

R 2 fdma SR om ImRe qiRed
BIEIESEIN

* % &
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